Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-TV » EXAMINATION — WINTER - 2016

Subject Code: 3342903 Date: 22-11 -2016
Subject Name: Weaving Technology - I1T
Time: 02:30 PM TO 05:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make Suitable assamptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is anthentic.
Q.1 Answer any seven out of ten. £2HIZ{l SlEULL Ulctoll wreitel 2. 14
1.  Write objects of Jacquard.
1. @stSell gl cull.
2. List the important parts of pirn changing mechanism.
2. Uol AP0l NH(eAosHell Wollell ellollell olltoll €] siaticl.
3. Write the function of warp stop motion.
3. clid elu Hlelele] s121 Gl
4. Write object of pirn changing mechanism.
¥, Uol Aol AXABHoA 3 vl .
5. Write any two limitation of auto loom.
Y., el guell sle uel A Halel .
6.  Write any two advantages of auto loom.
g. el Mol 8l uQl & SlAEL Ul
7.  Draw the sketch of different types of card used in drop box motion.
9. MU ollst HlalotHl duRLdl [Aldw st ol ausld el
8.  Why Multiple box motions are used?
¢. H@Rud ollsy Hlalet 2l {2 Guallodl data 82
9.  Draw the sketch of hook and comber board.
€. &5 alal shoR ollSofl ugld €lRL
10.  List the different types of ties used in Jacquard.
0. ®st8ul aurldl (AU ateotl ysizell auel sietial.
Q.2 (a)  Explain Bartlett let off motion with neat sketch. 07
Ys. 2 () olRAe A2 ullg Hlalet 269 aUsld U nestal. 09
OR
(a)  Explain mechanical warp stop motion with neat sketch. 07
) P3lasct and elu Hlatel e 2gld W dueel . 09
{b)  Write short note on environmental aspects in Auto loom shed. 07
() el g ASHL clcllelRRloll WL UR gselltl cul. 09
OR
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Write short note on locking device used in multiple box motion.
HRUA ollsd Hlatetdl aupgdl dlslol Bas ur gsedu cul.
Explain working of levelling device used in multiple box motion.

H@Eud olsy ool audl dadlol Basuell stduald 2nesdl,

OR

Explain working of Eccle’s drop box motion with neat sketch.

gest glu ollst Hlatate{l stafugld e 2usd w0 wHendl.
Explain working of single lift single cylinder jacquard with neat sketch.
Rioict [@ge Riolct RlEsell stalugld 2tz vusld w0l yuemdl.

OR
Explain working of cross border jacquard with neat sketch.

sl o182 BsiSell slelugld 226 2usld wd unesdl

Explain working of double lift double cylinder jacquard with neat sketch.

suc [Qge suct RAse(l stlugld ez vusld wd wHesal.

OR
Explain working of electronic jacquard with neat sketch.

gaszls Bsiéell steluald s 2us(@Q 2w wHemdl
Explain working of any weft feeler with neat sketch.
885 wal Ase (Betzell slelugld 2eze 2us@ 2 wuemal.

Write comparison between cop changing and shuttle changing looms.
slu AlFol ual 22t Bl GH d2Aell dAslald Gull.

Write short note on Norwich and London tie.
ollR(clAU Blol EAset 21 UR 5ol vl
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